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Resumo 

 

Definição 

Seja 𝑇: 𝑉 → 𝑉 um operador linear. Se 𝐴 e 𝐵 são bases de 𝑉, temos que: 

[𝑇]𝐵 = ([𝐼]𝐴
𝐵)−1 ∙ [𝑇]𝐴 ∙ [𝐼]𝐴

𝐵 ∴ [𝑇]𝐵 é semelhante à [𝑇]𝐴 

Obs.: [𝐼]𝐴
𝐵 = 𝐴−1 ∙ 𝐵 

 

Ex.1: Seja 𝐴 = {(1,2), (4,9)}, 𝐵 = {(1,0), (0,1)} 

 

Resolução: 

[𝐼]𝐴
𝐵 = [

1 4
2 9

]
−1

∙ [
1 0
0 1

] = [
9 −4
−2 1

] ∙ [
1 0
0 1

] = [
9 −4
−2 1

] 

 

 

Propriedade: 

det[𝑇]𝐵 = det[𝑇]𝐴 

 

Ex.2: 𝑇:ℝ2 → ℝ2; 𝐴 = {(3,4), (5,7)}; 𝐵 = {(1,1), (−1,1)}; [𝑇]𝐴 = [
−2 4
2 1

]. Calcule [𝑇]𝐵. 

 

Resolução: 

[𝑇]𝐵 = ([𝐼]𝐴
𝐵)−1 ∙ [𝑇]𝐴 ∙ [𝐼]𝐴

𝐵 

 

[𝐼]𝐴
𝐵 = 𝐴−1 ∙ 𝐵 

[𝐼]𝐴
𝐵 = [

3 5
4 7

]
−1

∙ [
1 −1
1 1

] = [
7 −5
−4 3

] ∙ [
1 −1
1 1

] = [
2 −12
−1 7

] 

 

([𝐼]𝐴
𝐵)−1 = [

7/2 6
1/2 1

] 

 

[𝑇]𝐵 = [
7/2 6
1/2 1

] ∙ [
−2 4
2 1

] ∙ [
2 −12
−1 7

] = [
2 −4
1 −5

] 


